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HAL A 7= 43. 2
NEAGE | ABE R R4 Py fiE NEaAr | AR E I R4 Py fiE
£ 3| 32.1 24 S (L 31.2
1 [if] (L 51.5 25 (L % 29. 2
2 = R 49. 5 26 ffaa k] 20. 1
3 2 )l 46. 5 27 X 875 29.0
4 % = 43. 1 28 = g 28.0
5 K o 41.9 29 & J: 27.8
6 ) = 40. 6 30 & i 27. 4
7 % [l 40. 4 31 & ¥ & 27. 1
8 L& il 40. 1 32 H 2 26. 8
9 K7 B 39. 8 33 K H 26. 7
10 % H 38.5 34 e S 26. 3
11 = 0 38. 4 35 [ ] 26. 2
12 Ji B 37.9 36 (O F 4 26.0
13 i ] 36. 8 37 i x 25. 8
14 % B 36. 2 38 BOR S 24.9
15 Hr 5 35.7 39 (L Vi 24.5
16 =5 iy 33. 4 40 & i 22.9
17 W ey 33. 1 40 e = 22.9
17 = i 33. 1 42 I Jei. 22.6
19 val JI 32.8 43 g AN 21.3
20 = I 32. 4 44 = B 19.7
21 AN 193 31.9 45 b T 19.3
22 i K 31.5 46 5= 75 19.2
22 oK 31.5 47 = i 17.8
GO(A) /]\%*xz_ﬁ*xﬁ%%l
(RE1HALFY)
BO - "t
40 - T | e S P R |
30

20 HHH-H 1 - I A O AT BT R R BE A Ts EEH T mtE
Rt
o LLL LI E A O L {ININIRIHIRE
FRABEEMLERBHARANEEEUREREZIRARRNEERALILEETESEERE kE.EEFF
ﬁfﬁ%tﬁﬁi%%ﬁ*%ia“l,ﬁ%wll#?&%ﬁl‘l%ﬂi %‘Blﬂifﬁﬂaﬁﬁﬂﬁm%ﬂ.%JII&E%DHEW*IZK ‘lﬂz‘r.%%%

(2
- ERHHAT %%Bﬂ?% [P 2 34 B A FE AR -
J ~ 4.9

LB £ FERORBEIBERL, S$T6A %2:::3

Tofr, EEE, 22,463 A,

Wi

=]




